
DIAGNOS MVo7 

Namn __________________________ _

Klass __ _ 

Byt enhet 

1 a) 2 m3 = ____ dm3

c) 4 dm3 = ____ mm3

e) 15 m3 = ____ cm3

Byt enhet 

2 a) 1,5 m3 = ___ dm3

c) 4,2 cm3 = ____ mm3

e) 0,06 m3 = ____ cm3

Byt enhet 

3 a) 20 cm3 = ____ dm3

c) 62,5 mm3 = ____ cm3

e) 1250 mm3 = ____ dm3

b) 5 dm3 = ____ cm3

d) 8 cm3 = ____ mm3

f) 21 dm3 = ____ cm3

b) 0,4 dm3 = ____ cm3

d) 3,5 dm3 = ____ mm3

f) 5,4 dm3 = ____ mm3

b) 80,5 dm3 = ____ m3

d) 2300 cm3 = ____ m3

f) 400 cm3 = ____ m3


